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All Inclusive IAS  –  CSAT through PYQs

Class-03 Explanation video in English ह दंी में स्पष्टीकरण वीडियो ➔

3D geometry

Remember : when two faces are opposite to each other, then all other faces are adjacent to both of them.
याद रखें : जब दो चेहरे एक-दसूरे के विपरीत होते हैं, तो अन्य सभी चेहरे उन दोनों के सथ  होते हैं 

Numbers on Face of Cube
All questions can be solved in two steps →

घन के फलक पर नंबर
सभी प्रश्नों को दो चरणों में हल ककया  ाा  सकाा  ह →

Step-1 : Make table from given information
               दी गई जथनकथरी से तथलिकथ बनथइए
Step-2 : Fill missing data in table

तथलिकथ में अनुपिब्ध डेटथ भरें

2013 Q-51 [set-A] 3D Geometry

Face
फिक

Adjacent
सथ  में

Opposite
विपरीत

1 4 6 2 3 5
2
3
4 1 6
5
6 1 4

5 is opposite to 1
Eliminate (b)  (c)  (d)

5, 1 के विपरीत है
(b) (c) (d) गित हैं

2015 Q-54 [set-A] Geometry 3D

Face
फिक

Adjacent
सथ  में

Opposite
विपरीत

V O B
I G Y
B Y O G V
G I Y B
Y O B I G
O Y B V

Y O B
I G Y
B G Y
O V B

Face
फिक

Adjacent
सथ  में

Opposite
विपरीत

V O B Y
I G Y B
B Y O G V I
G I Y B
Y O B I G V
O Y B V

G cannot be opposite to itself.
So, G is opposite to O.

G स्ियं के विपरीत नहीं हो सकतथ 
इसलिए, G, O के विपरीत है 

https://youtu.be/alUDsU-iCxg
https://youtu.be/alUDsU-iCxg
https://youtu.be/NIDv3CPoLDI
https://youtu.be/NIDv3CPoLDI


UPSC / PCS ©
अंगे्रजी और ह दंी में अलग-अलग वीडियो उपलब्ध  ैंSeparate explanation videos are available in English & Hindi

CSAT All Inclusive IASwww.allinclusiveias.com Class-02 Page-013

2018 Q-14 [set-A] Geometry 3D

14 What is the symbol on the face opposite to that containing a single dot? 
(a) Four dots       (b) Three dots       (c) Two dots       (d) Cross 

15 What is the symbol on the face opposite to that containing two dots? 
(a) Single dot       (b) Three dots       (c) Four dots       (d) Line 

16 What is the symbol on the face opposite to that containing the cross? 
(a) Single dot       (b) Two dots          (c) Line       (d) Four dots 

14 एक ही बबन्दु िथिे फिक के विपरीत फिक पर क्यथ प्रतीक है?
(a) चथर बबन्दु (b) तीन बबन्दु (c) दो बबन्दु (d) क्रॉस
15 दो बबन्दओुं िथिे फिक के विपरीत फिक पर क्यथ प्रतीक है?
(a) एक ही बबन्दु (b) तीन बबन्दु (c) चथर बबन्दु (d) रेखथ
16 क्रॉस िथिे फिक के विपरीत फिक पर क्यथ प्रतीक है?
(a) एक ही बबन्दु (b) दो बबन्दु (c) रेखथ (d) चथर बबन्दु

1, 2, line
2, 3, line
3, 4, line
1, 2, cross

Face
फिक

Adjacent
सथ  में

Opposite
विपरीत

1 2 Line cross
2 1 Line 3 cross
3 2 Line 4
4 3 Line

Line 1 2 3 4
cross 1 2

Face
फिक

Adjacent
सथ  में

Opposite
विपरीत

1 2 Line cross 4 3
2 1 Line 3 cross 4
3 2 Line 4 Cross 1
4 3 Line 1 Cross 2

Line 1 2 3 4 Cross
cross 1 2 3 4 Line

How many squares are surrounded 
by other squares from each side?

ककतने िगग प्रत्येक तरफ से अन्य 
िगों से घिरे हुए हैं?
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(5-2)3 
= 33 
= 27

2023 Q-18 [set-A] 3D Geometry

2017 Q-58 [set-A] 3D Geometry

(4-2)3 
= 23 
= 8

2016 Q-59 [set-A] 3D Geometry 6 (n-2)2  =  6 (4-2)2  =  24



Practice these questions yourself after gap of 1 week. See official answer key from here
1 सप्ताह के अंतराल के बाद इन प्रश्नों का अभ्यास स्वय ंकरें। आधिकाररक उत्तर क ं जी दखेें

https://allinclusiveias.files.wordpress.com/2024/02/csat-official-answer-key-till-2022.pdf
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12 x (n-2)  =  12 x (3-2)  =  12 x 1  =  12

2018 Q-35 [set-A] 3D Geometry

No paint = (7-2) x (5-2) x (3-2)
                =     5    x    3    x    1
                =  15

2023 Q-79 [set-A] 3D Geometry

Statement 1 : correct
Statement 2 : incorrect

2019 Q-10 [set-A] 3D Geometry

4 + 32.        32 is not perfect square.
32/2 = 16.  16 is perfect square.
So, one possibility is:
4   (2x2)
16 (4x4)
16 (4x4)

4 + 32 32 पूर्ण वर्ण नहीं ह ै।

32/2 = 16 16 पूर्ण वर्ण ह ै। 

तो, एक संभावना ह ै:

4  (2x2)

16 (4x4)

16 (4x4)

But this way big cubes will 
definitely have blue color.
So, big cubes must be placed 
between small cubes.

लेककन इस ारह बडे घन में कनकिा 

रूप से नीला  रगं होगा  ।

इसकलए, बडे घन को छोटे घन के 

बीच रखा  ाा ना  चा कहए ।

X ✓

Note:
In exam, never do “new” type of questions.
The type of questions you have practiced, 
are sufficient for you to clear the cut-off.

परीक्षथ में कभी भी "नए" प्रकथर के प्रश्न न करें 
आपने जजस प्रकथर के प्रश्नों कथ अभ्यथस ककयथ है, 
िह कट-ऑफ को पथर करने के लिए पयथगप्त है 

4 + 4 = 8

https://allinclusiveias.files.wordpress.com/2024/02/csat-official-answer-key-till-2022.pdf
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